Garland Independent School

GISD Sourcing Bid Tab Report

Bid#:	31903	Title: 181-17 Apparel (Shirts, T-
		Shirts, and Uniforms)

Quote# Vendor / Supplier	EPCNT	Discount
515297 4 IMPRINT INCORPORATED	yes	
517295 AMERICA TEAM SPORTS	Yes	
514315 BARCELONA SPORTING GOODS	yes	
515295 BULL MARKET PROMOTIONS LLC	Yes	
514316 CUSTOM SPORTSWEAR INC	Yes	
517310 EDUCATIONAL PRODUCTS INC (EPI)	Yes	
515317 FLAT RATE PRINTING AND	ves	
517311 *GANDY INK SCREEN PRINTING AND	Yes	
EMBROIDERY		
515301 GRAPHICS STORE LLC	Yes	
517300 GTM SPORTSWEAR	Yes	
515321 INK DECO	Yes	
515311 JUSTIN A INGRAM	ves	
516298 LAMDIS PARTNERSHIP	YES	
516303 PAYTON GROUP	Yes	
516294 PEPWEAR LLC	Yes	
517293 POSITIVE PROMOTIONS	Yes	
517306 PRINT TO SUIT INC	Yes	
PXP SOLUTIONS LLC	yes	
517307 RIDDELL ALL AMERICAN	Yes	
517302 ROBERT THOMSON	Yes	
517304 STACY SMOOT	Yes	
517299 T SHIRTS N TRENDS	Yes	
517312 *TAMARA D JOHN	Yes	
517296 TEAM LEADER	Yes	
515304 THE MCKENNA GROUP LLC	Yes	
515320 VARSITY BRANDS HOLDINGS CO INC	YES	

*Confidential

					*Confidential			
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	Golf Shirt - Jerzees or Equal	Yes		EA	PXP SOLUTIONS LLC	3000	\$4.29	\$12,870.00
		Yes		EA	VARSITY BRANDS HOLDINGS CO INC	3000	\$5.33	\$15,990.00
		Yes		EA	GRAPHICS STORE LLC	3000	\$5.77	\$17,310.00
		Yes		EA	AMERICA TEAM SPORTS	3000	\$5.99	\$17,970.00
		Yes		EA	FLAT RATE PRINTING AND PROMOTIONS INCORPORATED	3000	\$6.29	\$18,870.00
		Yes		EA	GTM SPORTSWEAR	3000	\$6.30	\$18,900.00
		Yes		EA	ROBERT THOMSON	3000	\$6.45	\$19,350.00
		Yes		EA	EDUCATIONAL PRODUCTS INC (EPI)	3000	\$6.49	\$19,470.00
		Yes		EA	BARCELONA SPORTING GOODS	3000	\$6.50	\$19,500.00

	Yes	EA	PRINT TO SUIT INC	3000	\$6.50	\$19,500.00
	Yes	EA	RIDDELL ALL AMERICAN	3000	\$7.20	\$21,600.00
	Yes	EA	T SHIRTS N TRENDS	3000	\$7.50	\$22,500.00
	Yes	EA	PAYTON GROUP	3000	\$7.69	\$23,070.00
	Yes	EA	STACY SMOOT	3000	\$8.45	\$25,350.00
	Yes	EA	INK DECO	3000	\$8.90	\$26,700.00
	Yes	EA	JUSTIN A INGRAM	3000	\$8.90	\$26,700.00
	Yes	EA	BULL MARKET PROMOTIONS LLC	3000	\$9.00	\$27,000.00
	Yes	EA	*GANDY INK SCREEN PRINTING AND EMBROIDERY	3000		
	Yes	EA	*TAMARA D JOHN	3000		
	Yes	EA	THE MCKENNA GROUP LLC	3000	\$9.99	\$29,970.00
	Yes	EA	TEAM LEADER	3000	\$10.50	\$31,500.00
	Yes	EA	4 IMPRINT INCORPORATED	3000	\$10.99	\$32,970.00
	Yes	EA	PEPWEAR LLC	3000	\$12.90	\$38,700.00
	Yes	EA	CUSTOM SPORTSWEAR INC	3000	\$17.95	\$53,850.00
Denim Shirt - Port Authority or 2 Equal	Yes	EA	FLAT RATE PRINTING AND PROMOTIONS INCORPORATED	1200	\$11.95	\$14,340.00

Yes	EA	THE MCKENNA GROUP LLC	1200	\$11.99	\$14,388.00
Yes	EA	PRINT TO SUIT INC	1200	\$12.50	\$15,000.00
Yes	EA	GTM SPORTSWEAR	1200	\$12.95	\$15,540.00
Yes	EA	PAYTON GROUP	1200	\$13.98	\$16,776.00
Yes	EA	BARCELONA SPORTING GOODS	1200	\$14.50	\$17,400.00
Yes	EA	ROBERT THOMSON	1200	\$14.99	\$17,988.00
Yes	EA	BULL MARKET PROMOTIONS LLC	1200	\$16.00	\$19,200.00
Yes	EA	EDUCATIONAL PRODUCTS INC (EPI)	1200	\$17.00	\$20,400.00
Yes	EA	T SHIRTS N TRENDS	1200	\$17.50	\$21,000.00
Yes	EA	*GANDY INK SCREEN PRINTING AND EMBROIDERY	1200		
Yes	EA	JUSTIN A INGRAM	1200	\$18.50	\$22,200.00
Yes	EA	PXP SOLUTIONS LLC	1200	\$18.75	\$22,500.00
Yes	EA	VARSITY BRANDS HOLDINGS CO INC	1200	\$19.00	\$22,800.00
Yes	EA	STACY SMOOT	1200	\$19.50	\$23,400.00
Yes	EA	TEAM LEADER	1200	\$19.99	\$23,988.00
Yes	EA	AMERICA TEAM SPORTS	1200	\$20.45	\$24,540.00
Yes	EA	*TAMARA D JOHN	1200		

	Yes	EA	4 IMPRINT INCORPORATED	1200	\$21.00	\$25,200.00
	Yes	EA	INK DECO	1200	\$21.49	\$25,788.00
	Yes	EA	GRAPHICS STORE LLC	1200	\$22.50	\$27,000.00
	Yes	EA	PEPWEAR LLC	1200	\$29.99	\$35,988.00
3 T-Shirt - Gildan 8000 or Equal	Yes	EA	PRINT TO SUIT INC	2368	\$1.90	\$4,499.20
	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	2368	\$2.07	\$4,901.76
	Yes	EA	T SHIRTS N TRENDS	2368	\$2.42	\$5,730.56
	Yes	EA	PXP SOLUTIONS LLC	2368	\$2.46	\$5,825.28
	Yes	EA	PAYTON GROUP	2368	\$2.59	\$6,133.12
	Yes	EA	INK DECO	2368	\$2.62	\$6,204.16
	Yes	EA	STACY SMOOT	2368	\$2.63	\$6,227.84
	Yes	EA	ROBERT THOMSON	2368	\$2.84	\$6,725.12
	Yes	EA	BARCELONA SPORTING GOODS	2368	\$2.90	\$6,867.20
	Yes	EA	FLAT RATE PRINTING AND PROMOTIONS INCORPORATED	2368	\$2.95	\$6,985.60
	Yes	EA	RIDDELL ALL AMERICAN	2368	\$2.95	\$6,985.60
	Yes	EA	AMERICA TEAM SPORTS	2368	\$3.20	\$7,577.60
	Yes	EA	THE MCKENNA GROUP LLC	2368	\$3.47	\$8,216.96

	Yes	EA	GRAPHICS STORE LLC	2368	\$3.50	\$8,288.00
	Yes	EA	*TAMARA D JOHN	2368		
	Yes	EA	TEAM LEADER	2368	\$3.75	\$8,880.00
	Yes	EA	EDUCATIONAL PRODUCTS INC (EPI)	2368	\$3.89	\$9,211.52
	Yes	EA	PEPWEAR LLC	2368	\$3.95	\$9,353.60
	Yes	EA	BULL MARKET PROMOTIONS LLC	2368	\$4.00	\$9,472.00
	Yes	EA	*GANDY INK SCREEN PRINTING AND EMBROIDERY	2368		
	Yes	EA	GTM SPORTSWEAR	2368	\$4.55	\$10,774.40
	Yes	EA	JUSTIN A INGRAM	2368	\$4.90	\$11,603.20
	Yes	EA	CUSTOM SPORTSWEAR INC	2368	\$7.95	\$18,825.60
	Yes	EA	POSITIVE PROMOTIONS	2368	\$10.99	\$26,024.32
	Yes	EA	4 IMPRINT INCORPORATED	2368	\$11.13	\$26,355.84
4 T-Shirt - Gildan 5000 or Equal	Yes	EA	PRINT TO SUIT INC	8310	\$1.70	\$14,127.00
	Yes	EA	VARSITY BRANDS HOLDINGS CO INC	8310	\$1.81	\$15,041.10
	Yes	EA	PAYTON GROUP	8310	\$2.13	\$17,700.30
	Yes	EA	PXP SOLUTIONS LLC	8310	\$2.34	\$19,445.40

Yes	EA	INK DECO	8310	\$2.49	\$20,691.90
Yes	EA	STACY SMOOT	8310	\$2.50	\$20,775.00
Yes	EA	ROBERT THOMSON	8310	\$2.62	\$21,772.20
Yes	EA	BARCELONA SPORTING GOODS	8310	\$2.80	\$23,268.00
Yes	EA	FLAT RATE PRINTING AND PROMOTIONS INCORPORATED	8310	\$2.85	\$23,683.50
Yes	EA	RIDDELL ALL AMERICAN	8310	\$2.85	\$23,683.50
Yes	EA	GRAPHICS STORE LLC	8310	\$3.00	\$24,930.00
Yes	EA	THE MCKENNA GROUP LLC	8310	\$3.12	\$25,927.20
Yes	EA	T SHIRTS N TRENDS	8310	\$3.12	\$25,927.20
Yes	EA	AMERICA TEAM SPORTS	8310	\$3.15	\$26,176.50
Yes	EA	JUSTIN A INGRAM	8310	\$3.45	\$28,669.50
Yes	EA	EDUCATIONAL PRODUCTS INC (EPI)	8310	\$3.49	\$29,001.90
Yes	EA	*TAMARA D JOHN	8310		
Yes	EA	PEPWEAR LLC	8310	\$3.75	\$31,162.50
Yes	EA	TEAM LEADER	8310	\$3.75	\$31,162.50
Yes	EA	BULL MARKET PROMOTIONS LLC	8310	\$4.00	\$33,240.00
Yes	EA	*GANDY INK SCREEN PRINTING AND EMBROIDERY	8310		

	Yes	EA	GTM SPORTSWEAR	8310	\$4.90	\$40,719.00
	Yes	EA	POSITIVE PROMOTIONS	8310	\$7.50	\$62,325.00
	Yes	EA	CUSTOM SPORTSWEAR INC	8310	\$7.95	\$66,064.50
	Yes	EA	4 IMPRINT INCORPORATED	8310	\$10.14	\$84,263.40
5 T-Shirt - Hanes or Equal	Yes	EA	PRINT TO SUIT INC	650	\$1.85	\$1,202.50
	Yes	EA	INK DECO	650	\$2.65	\$1,722.50
	Yes	EA	BARCELONA SPORTING GOODS	650	\$2.67	\$1,735.50
			FLAT RATE PRINTING AND			
	Yes	EA	PROMOTIONS INCORPORATED	650	\$2.75	\$1,787.50
	Yes	EA	PAYTON GROUP	650	\$2.85	\$1,852.50
	Yes	EA	ROBERT THOMSON	650	\$3.02	\$1,963.00
	Yes	EA	RIDDELL ALL AMERICAN	650	\$3.30	\$2,145.00
	Yes	EA	TEAM LEADER	650	\$3.50	\$2,275.00
	Yes	EA	PEPWEAR LLC	650	\$3.55	\$2,307.50
	Yes	EA	T SHIRTS N TRENDS	650	\$3.64	\$2,366.00
	Yes	EA	VARSITY BRANDS HOLDINGS CO	650	\$3.79	\$2,463.50
	Yes	EA	STACY SMOOT	650	\$3.93	\$2,554.50

	Yes	EA	PXP SOLUTIONS LLC	650	\$4.06	\$2,639.00
	Yes	EA	GTM SPORTSWEAR	650	\$4.20	\$2,730.00
	Yes	EA	THE MCKENNA GROUP LLC	650	\$4.89	\$3,178.50
	Yes	EA	JUSTIN A INGRAM	650	\$4.90	\$3,185.00
	Yes	EA	*GANDY INK SCREEN PRINTING AND EMBROIDERY	650		
	Yes	EA	*TAMARA D JOHN	650		
	Yes	EA	AMERICA TEAM SPORTS	650	\$5.15	\$3,347.50
	Yes	EA	EDUCATIONAL PRODUCTS INC (EPI)	650	\$5.29	\$3,438.50
	Yes	EA	GRAPHICS STORE LLC	650	\$6.50	\$4,225.00
	Yes	EA	BULL MARKET PROMOTIONS LLC	650	\$7.00	\$4,550.00
	Yes	EA	CUSTOM SPORTSWEAR INC	650	\$7.95	\$5,167.50
	Yes	EA	4 IMPRINT INCORPORATED	650	\$9.82	\$6,383.00
	Yes	EA	LAMDIS PARTNERSHIP	650	\$9.99	\$6,493.50
	Yes	EA	POSITIVE PROMOTIONS	650	\$11.25	\$7,312.50
6 Sweatshirt - Hanes or Equal	Yes	EA	PRINT TO SUIT INC	600	\$7.25	\$4,350.00
	Yes	EA	GTM SPORTSWEAR	600	\$7.35	\$4,410.00
	Yes	EA	VARSITY BRANDS HOLDINGS CO	600	\$9.90	\$5,940.00

Yes	EA	BULL MARKET PROMOTIONS LLC	600	\$10.00	\$6,000.00
Yes	EA	FLAT RATE PRINTING AND PROMOTIONS INCORPORATED	600	\$10.30	\$6,180.00
Yes	EA	ROBERT THOMSON	600	\$10.82	\$6,492.00
Yes	EA	EDUCATIONAL PRODUCTS INC (EPI)	600	\$11.49	\$6,894.00
Yes	EA	T SHIRTS N TRENDS	600	\$11.96	\$7,176.00
Yes	EA	THE MCKENNA GROUP LLC	600	\$12.47	\$7,482.00
Yes	EA	BARCELONA SPORTING GOODS	600	\$12.50	\$7,500.00
Yes	EA	AMERICA TEAM SPORTS	600	\$12.78	\$7,668.00
Yes	EA	PAYTON GROUP	600	\$12.78	\$7,668.00
Yes	EA	STACY SMOOT	600	\$13.60	\$8,160.00
Yes	EA	INK DECO	600	\$13.85	\$8,310.00
Yes	EA	*TAMARA D JOHN	600		
Yes	EA	*GANDY INK SCREEN PRINTING AND EMBROIDERY	600		
Yes	EA	JUSTIN A INGRAM	600	\$15.25	\$9,150.00
Yes	EA	GRAPHICS STORE LLC	600	\$15.69	\$9,414.00
Yes	EA	TEAM LEADER	600	\$15.99	\$9,594.00
Yes	EA	PEPWEAR LLC	600	\$16.70	\$10,020.00

Yes	EA	POSITIVE PROMOTIONS	600	\$18.95	\$11,370.00
Yes	EA	4 IMPRINT INCORPORATED	600	\$22.75	\$13,650.00
Yes	EA	CUSTOM SPORTSWEAR INC	600	\$24.95	\$14,970.00